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e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :

(i)

(ii)

(iii)

(iv)

(v)

(vi)

(vii)

qut yv7 At § | 57 y9-97 § FoT 27 ¥oA § | Fe-97 qie @S] §
fasifora 8 1
TS 37 H Y97 &I 1 -5 % I9% J97 UF 37 F & | Fedb 97 & I

20 szl G 3% 757 &7 =ET |

GU8 § 7 Y97 G&IT 6 - 10 T Id% I3 3T HHl &7 8 | Iedh J97 H I
40 =51 8 37feres 787 g7 TR |

GU8 G 7 97 G&IT 11 - 16 7% Icd% I3 AR 371 F7 & | Icodeb 97 T I
100 =5t @ 3ifers 787 57 F11eT |

GV 7 H Y97 G&I7 17 - 21 T T Y97 Giel 371 &7 & | I 97 &1 I
150 i3] @ 3718 787 7 FIeT |

G 7 4 ¥97 G&ar 21 HEEE T STEIRT 99 &/ 3H% FH ST
FH-YIea®7 d 17T |

GUE T H Y97 G&IT 22 - 27 % Jcdeh 97 B: 37h] F & | I J97 H FH
150 153 @ 37189 787 817 FNaT |

General Instructions :

()

(iv)

(iii)

(iv)

(v)

(vi)

(vii)

All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

Section C contains Questions number 11 - 16 of four marks each. The
answers to these questions should not exceed 100 words each.

Section D contains Questions number 17 - 21 of five marks each. The
answers to these questions should not exceed 150 words each.

In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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s A
SECTION A

gfgadt TeEed qen qaf Tesud A fohu-fRe fommum w1 wiafHfuea @

2 2

AT

fg-gatarar & 31 @ o= MU &7 2 1

Which ideologies were represented by the Western alliance and the

Eastern alliance respectively ?
OR
What does the end of bipolarity mean ?

‘FGEea’ & R # Fefafgd 9 9 S99 e g8 @ 2 1
(a) T=Ed &1 7Y 7, HS ¢ I TEAN qAT TS |

(b) IEET o I B, B, AR W ToHIfdeh AH o HRUT hEl o h
T |

(c) ada faenfia <o <l U womft foromyar B |
(d) T=E AU TS, S TIh g, i Tod Tgel il & |

Which one of the following statements about ‘hegemony’ is correct ?
(a) Hegemony means cooperation and alliance of some states.

(b) Hegemony means dominance of a state due to military, economic
and political power.

(c) Hegemony is a permanent feature of the developed countries.

(d) Hegemony always neglects international organisations like the
UN.
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ifoa @9 o faeed & 91g, fhg <91 1 30 TIM T AYH Tsg gLaT uiwg 6l
TRt TR W 73 ? 1
arera

TR TR 6 el a1 3g@ HINT | Lyo=1

2
After disintegration of the USSR, which country got the permanent
membership of the UN Security Council in its place ?

OR

Mention any two components of traditional security.

TH W, TH TR I TH U’ b foUR W SR g arel TSR g I
TEETT qT IHeHT AW fAfay | 1

Identify and name the political party which emphasised the idea of ‘one
country, one culture and one nation’.

‘Carddar w1 319 Tose hifvu | 1

Explain the term ‘autonomy’.

Qus d
SECTION B

Teh 31 fo¥a g o @al ol A oh I GHI HETIRAT bl A1 B 1Al Teh

Y@ RN ISR HIWT | 2
JroraT

ek AT o HRUT HHEE €9 Y I5¢ B4 aTe THTS Hed1l hl T sFa€dr hi

foregl @ foriwaadt &t IR ifST | 1x2=2

Highlight any one major reason that compelled both the superpowers to
avoid the risk of another world war.

OR

Highlight any two features of the old system of social welfare that got
destroyed due to shock therapy.
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TS o ifd Fews fagmat & 8 @ 5l o fagrmar &1 avia hifse S
AL IS I X FR&AT Bl FQran 1 2 | 1x2=2

HAAAT

T A=l AT A8% g a0 Td3 <3 o H1 Teh s & o1, fhu g
e S Y 1x2=2

Describe any two Directive Principles of State Policy that aim to promote

international peace and security.

OR

Describe any two efforts made by the Prime Minister, Jawaharlal Nehru
to establish contacts between India and other newly independent
countries.

Ife STTYh! 794 &F & TS AN o HedMl b U hig & Hgw@yol AR IATR
T ! HE S, d Y HE-E & {1 IS == ? G A I qehl g

A 38Usy | I1x2=2

If you are asked to highlight any two important demands for the welfare
of the poor people of your locality, which two demands would you like to

raise ? Justify your demands with arguments.

TR A AT T B R U qelt s sreiqel firem iR éx4:
TTTY A’ &y ‘B’

(a)  &FU shrfd G . = fE

(b)  YRA I IU-UGH T (i) SIS S

(¢ 1974 i i@ geard (iii) SPTSfed T

(d) Ih gA o HEATH (iv)  SEISeRTST TR0

QB365 - Question Bank Software




10.

11.

QB365 - Question Bank Software

Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful manner :

Column ‘A’ Column ‘B’
(a)  Total Revolution (i)  Ch. Charan Singh
(b)  Deputy Prime Minister (i1) George Fernandes
of India
(c) Railway Strike of 1974 (ii1) Jagjivan Ram
(d)  Founder of Lok Dal (iv) Jayaprakash Narayan

1990 H Hed HHlEH 6 fawriwn l ar] w6 fhdl g g9mEi w1 foweryo

HITSTT | 1x2=2
areran

TSt el — ARTETE GHIAT 3T i e H-hal doh qha g1l ? 2

Analyse any two effects of the implementation of the recommendations of
the Mandal Commission in 1990.

OR
How far did the Rajiv Gandhi — Longowal Accord succeed in its desired
goal ?
Qs |
SECTION C

TETd diehd o 1A H WAl IRiEa hl IR ISR hl HEEAT § T
SHiferT | Ixd=4

SreraT
e <hl i =R fosivand wase Hifsu | Ixd=4

Explain the U.S. hegemony as a structural power with the help of four

examples.

OR
Explain any four features of ASEAN.
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13.

14.

15.

16.
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R TP GReT giug hl TRt "ewar o fofu ara i gqeeit &l el =m
TR W =G 38T | s

Justify India’s candidature for the permanent membership of the
UN Security Council on any four grounds.

Syefiertur o feregl = 3TTffer awTel sl ISR <hifsru | Ix4=4

Highlight any four economic effects of globalisation.

o gEasid AT AR fgda duadfy Jeen & o a8 g I ST e
HINT | 2+2=4

arerat
1948 H 8eeTE o WHd H foer o fou Sorerft aftfesfaai i same hif | 4

Explain any two major differences between the First Five Year Plan and
the Second Five Year Plan.

OR

Explain the circumstances that led to the accession of Hyderabad to India
in 1948.

T 3R = % & " aaqul @ea-di o e, el fovgl 9 areTel 1 avi
_‘ﬁ”élq | Ix4=4

State any four events that are responsible for the strained relations
between India and China.

1975 § @1 foRT T STTTdehTAl o G i T8 feohdl TR YRR 1 SATGRIT 1

Fuiq HIT | Ixd=4
ST

1967 W WA H BT =qY A TGl 6 fohea] oR GO 1 3@ HIT | Ix4=4

Describe any four types of excesses made during the Emergency imposed
in 1975.

OR

Mention any four outcomes of the fourth general elections held in India
in 1967.
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SECTION D

17. = fiu Tu ra@w w1 eyHYEs sterEE whifie o e sl % I
fefiau

T T TN Sd gg ol HEIH o €9 H FIAT | GEISEEG JOITet
ISt yurett 1 uste Wl a1 TE — Ig foamearens e 3te w18 ger @
@ | 3fid Ig & 39 foare A A1 TS A I o, BRI i 97 B IE H
off, T BORMI &% T=F I Serar fear o ... , 3 Ig o THT BH &
BRI 1 BIe ol THTH 1 T3 3TN Teh A3 WAT h! FEATST 1 SI+H FaAT |
() ¥ IG % GRH TH-gE § A3 31 8 MeeH] o A fIfay |
(i) Bt 6 gre 7 fora wrur 9 wifa it 9 3ca= At ? T Hifw |

(i)  oETY] BRI % HuF I dfvde uFEwl % ol T HEM w@au #
AT ST & 2 1+2+2=5

HIAT

fa feu Tu Sraqo 1 erHgEs e i iR frafafed geel % 3w
ferfa -

Te-faerar w1 19 dexerdn w1 gd furn ot 7€ 3 | dewar @ o1 g
? geua: Ig § wifte 7 g9 <l Aifd &1 arem e | deeyan i Aifd w1 aem
FHH ISl <3 o T 78 T4 T8 fh 98 Ig ! THT HH T AGE B | UH <
gg T HOH T8 B 3T A & g o TR 8H o aR H 3! HIs 9& gl
2 | ST s RN ¥ Te-Fruw gw, fed wwa ot wfte B, 3g | it gu
g1
(i)  Te-Fuerar i gfefya i |
(i)  Te-FRustar aum qewerdr § 7ot Tose Hifu |
(iii)  Te-Fae 39 B9 % FTESE, O oW g § WA = g 2 HIE TH HRO
it | 1+2+2=5
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Read the passage given below carefully and answer the following
questions :

It meant the end of Cold War confrontations. The ideological
dispute over whether the socialist system would beat the capitalist
system was not an issue any more. Since this dispute had engaged the
military of the two blocs, had triggered a massive arms race and
accumulation of nuclear weapons ........ , the end of confrontation
demanded an end to this arms race and a possible new peace.

) Name the two alliances that were in confrontation during the
Cold War.

(i1) Why did the arms race lead to a demand for peace ? Explain.
(iii) Why was accumulation of nuclear weapons considered as a
great danger to the global environment ?
OR

Read the passage given below carefully and answer the following
questions :

Non-alignment is also not neutrality. Neutrality refers
principally to a policy of staying out of war. States practising
neutrality are not required to help end a war. They do not get involved
in wars and do not take any position on the appropriateness or
morality of a war. Non-aligned states, including India, were actually
involved in wars for various reasons.

(1) Define Non-alignment.
(ii)  Differentiate between non-alignment and neutrality.

(iii) Inspite of being non-aligned states, why were some states involved
in war ? Give any one reason.

Fe fCU T ST 1 SAHYEe A iy IR e gl W 3T

W <61 T Wt 29 o sTidien g awenst § fued 1 dam i
St ot | 3T STAEATS] TRl 4 HHI-HHY U WRA § ST B hl I
I | YRA 7 TSHT TehdT 1 ST T & [T SAlehdli=eh T Ifdeh sIeaEdT ol
YT 3R UTed fopam |
() T < &1 & TTEETeal 3 YR W AT B <hl il <l 2

(i) 3Tk foaR #, STeRTEETE WGl i, AR § AT W hl HIT

forg dimn qeh 3t B 2 T Fif |
(iii) AThdIEeh TSI g%l ford &1 aiiehl 8 WRa K1 fafauar § wewar =1
T W@ | HEraT ! 7 2 1+2+2=5
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Read the passage given below carefully and answer the following
questions :

The Indian security strategy is geared towards meeting
security challenges within the country. Several militant groups,
from time to time, have sought to break away from India. India has
tried to preserve national unity by adopting a democratic political

system.

(1) The militants of which two areas have sought to break away from
India ?

(i1))  In your opinion, how far is the demand of the militant groups
to break away from India justified ? Explain.

(iii) In which two ways does the democratic political system help
to bring unity in diversity in India ?

= fou MU STaawr 1 SIMYE® JTEEE e R EfiiRad weAl % I
fafau .

HAE 3N ST o oG feafaal sgetl | BAR Jaqieil =i f=ar g8 f 3R
HTST % STTEIR W Td ST TC Tl Y TFaeAT hd Tehdl & TAT G o e Wl
A Ug1 B GHhal & | I8 M @ R 3EE W % AW AW dTelt T
THTRh-3ATIY FHITTAl § IH Weeh Tohdl & | 3Td: hrald "qcd - 36 "
TfiTq & 1 HEe o | .

(1)  Ededn qen faueHE % Sror wRd § gU fRd T e aitEdd i 3SR
ST |

(i) g 4 3fgRaa sron & Afdics, Al & S9N IH & TE & o
ITERN fohdl g1 37T SR 1 Ig@ HINT |

(i) 3@ TR W FE B F e A Y A @ s w2 FE T

3ETEW SINT | 242+1=5

YT
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= for MU Sraawr w1 SMYE® steEE Sife o fEfaRad weAl % IW
fefau -

< % Sffuei feedl § wagH SHad 1952 § & g0 | 9@ SAhE,
TAGH 3R AU § $A B HEH o0l | FATEl H IW{GAN o e gepeen ol
BN — A & e & o7 91 3ufigaR @ & ASE | o | @R A 39 gAE
H Se-aght fgEHgRl ! — Pt Aagrared H 7Y & Afh F HagH o fed 1o
a2 Sl | 3§ gAEl % IRem Hifd §Y, f gRA o IFigari 4 ol &
gt ol Fsaer ST | ey 9¥%eh AATYeR o 39 YA 3 A 6l
g a9 & fea |
(i)  FENH g% TR o 1 I R 2
(i) 19523 3T FAET H TATHT BF HEH. T % hls Gl HRI T HIWT |

(i) WRd § 1952 H gC Il § ¥8 HH g & I e f g | =+ ot

Alhas 9T 30 fohaT ST Eehdl & 2 142+2=5

Read the passage given below carefully and answer the following
questions :

Things changed after independence and partition. Our leaders felt
that carving out states on the basis of language might lead to disruption
and disintegration. It was also felt that this would draw attention away
from other social and economic challenges that the country faced.
Therefore, the central leadership decided to postpone matters.......

(1) Highlight any one major change that took place in India due to
independence and partition.

(i1) Mention two more reasons other than the ones mentioned in the
passage, which were responsible for the postponement of carving
out states.

(iii)) Why was this postponement challenged by some local people and
where ? Give any one example.

OR
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Read the passage given below carefully and answer the following

questions :

Most parts of the country voted in January 1952. It took six
months for the campaigning, polling and counting to be completed.
Elections were competitive — there were on an average more than
four candidates for each seat. The level of participation was
encouraging — more than half the eligible voters turned out to vote
on the day of elections. When the results were declared, these were
accepted as fair even by the losers. This experiment of Universal
Adult Franchise proved the critics wrong.

1) What is meant by Universal Adult Franchise ?

(i1) Explain any two reasons due to which it took about six
months to complete the first general elections in 1952.

(iii)) How did the elections held in 1952 in India prove that
democracy could be practised anywhere in the world ?

= feu MU T w1 erHgdes rereH hife iR FrefarRad yeAi @ 3 fafaw -

SPRES R

hn.':,}

Nt oo

(i) ‘O (TH.UUARH) w1 farga w9 fafaw |

(i)  led § Pl hl feafd &, R R qiferea™ o dey | 91 T foretat

22

(i) HEET <M % S T Hl U H, "Rh HI THAA] H AThH

HIT |
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Study the cartoon given below carefully and answer the following
questions :

(1) Write the full form of SAARC.

(ii1) What message is being given by the placement of seats in the
cartoon with respect to India and Pakistan ?

(iii)  Assess the success of SAARC in improving the relations among its
member states.

g :  HERTREGT J9T HacT gIRETET GOl & [o7g, J97 G 20 F TIH W& -

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1) ‘@ W forqa &9 foafen |
(20.2) 1991 ¥ WG AT =H o = G-l ol HATehai il |

(20.3)  “URd & WS ITThR 3T RK o BRI, THh TSIHT S T $Heh! H=d
T I HET AT B |” IS Ueh IUYH doh ool 30 HIA sl gfte
SHifST | 1+242=5
(20.1) Write the full form of SAARC.
(20.2) Assess the relations between India and China after 1991.

(20.3) “Given the size and power of India, its neighbours are bound to
be suspicious of India’s intentions.” Justify the statement with
a suitable argument.
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eI sl ShH BT a1 rf-erd 37eR, = & 78 difetent & &9 ¥ fafau :

(i)

(ii)

(iii)

(iv)

(v)
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WRA % QU MU oAl @AWRE (98 16 W), H U9 TSI
@, ®, ©, © da ® g euten 7w 8 | A= @ T THEH F IMHR W H
TSat &l UgaH HINU R ot ITYfeast # 9 TE AW, JA A T

T bl T TR
& HH-IE

Trafeerg 78R

TSI &1 AW

1)

(i1)

(iii)

(iv)

(v)

Iz TST STRT Sfid Yo AT |eA 1 o4 1972 H g3l |

I8 TSI 8T Yie’ IR i feoa 3 |

I8 TS SR | WA fopa™ gfem 3 el 1 3Tgiad & o o |
I8 T S8 S19=ag 370 % Sfavia fomy gaii foam = o |

I8 99 A 929 S 1987 § Ueh T &7 |
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In the given political outline map of India (on page 16), five States have
been marked as @, ®, ©, @ and @ Identify them on the basis of
the information given below and write their correct names in your

answer-book with the respective serial number of the information used

and the concerned alphabet as per the following format :

Sr. no. of the
information used

Concerned
Alphabet

Name of the
State

(i)

(ii)

(iii)

(iv)

(v)

) The State, where the organisation called Dalit Panthers was

formed in 1972.

(i1) The State where Sardar Sarovar Dam is situated.

(iii) The State from where BKU started the farmers’ agitation.

(iv) The State which was given a special status under Article 370.

(v)  The Union Territory which became a State in 1987.
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I F. 21 & fow For question no. 21

URA T WET-AE (T )
Outline Map of India (Political)
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iz :  [Ekikga 397 #ac gieartaa ghgmiaal & o, 397 &3 21 & €H T/
g

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) GER U 914 g TS 1 feog 8 2

(21.2) 39 TSF o1 AW fafge & 1961 W gamet o =01 & T = =
o |

(21.3)  HISN AIEA % 1 HEATTh AT i o1 ?
(21.4) TFE TST =1 TT=RE 370 % Aad fomiw gt feam w7 2
(21.5)  HH-HT TsF drel-faeht 3Teied s forg S S 8 2 Ix5=5

(21.1) In which State is Sardar Sarovar Dam situated ?

(21.2) Name the State which was liberated from Portuguese control in
1961.

(21.3) Who was the founder leader of the Mizo National Front ?

(21.4)  Which State has been given the special status under
Article 370 ?

(21.5) Which State is known for its Anti-Arrack Movement ?

Qs g
SECTION E

22. TEWIRHAT ¢RI DI ST o T TF-Y T W o T ATehSd ohid o1t Teheal
TR HRO B FIverme HIfT | 11 %4=6
rora 2
a9 % frges ¥ R stier fhdl wr Sro &1 fwewy it | 11 x4=6

Analyse any four reasons that tempted the super powers to have
relations with smaller states.

OR

Analyse any four reasons responsible for the disintegration of the USSR.
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23. YNA 3R IFEICY o s= AN qdT STHEHT h [hal ql-al &FAT I FuH
HITT, | 11%4=6

T 2

A g AT AT & IUE & AU I3 MU gl IR heAl T I

HIT | 11 x4=6
Describe any two areas of cooperation and disagreement each, betwee2n
India and Bangladesh.

OR
Describe any four steps taken by China to grow its economy.

24. g THEA AT FIgd H AW o qESG, WA % ATHHR Toifdeh gl o o=

I g8 TEHId ol feheg] dIF &1l o1 U HT | 2x3=6
sreraT

TR T SAThaitieh ToHifd 8§ &t ATehieradl, T <t drsiert aen & dqer

% Hgwd 1 JUIF T | 3x2=6

Describe any three elements of consensus that appear to have emerged
among most political parties in India in the midst of severe competition
and many conflicts.

OR
Describe the importance of regional aspirations, power sharing and the
regional balance in democratic politics of India.

25. “YRA % UgA Ml STW AT H, UG U o Jcd I YA TSI hl
ARATTE Thid T hig TehRIcHeh YHTE &l 981 |” 38 I o 94 H His dH
T T | 2x3=6
arera
“ara g @] foew MU Tt orefedawen o wisw I ATET AUl qe
Sferor foRi GHT % T @A h 5 |7 39 AT ok 9F H HIE dF e
T | 2x3=6

“Dominance of the Congress Party in the first three general elections in
India, had no negative effect on the democratic nature of Indian politics.”
Give any three arguments to support the statement.

OR
“The model of mixed economy adopted by India was criticised openly from
the left and the right.” Give any three arguments to support the
statement.
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TorHifa fosm o fommeff o w9 #, 319 1975 § W 77U 3Rl ¥ -0 dH
e HRad & ? 2x3=6
Jreran

HIE T 1 U AT S 1969 H HE Uil hl s A a=n dshd 9 | 2x3=6

As a student of political science, which three lessons do you learn from

the Emergency imposed in 1975 ?
OR

Suggest any three steps that could have helped the Congress Party to
avert a split in 1969.

QU fova # Jvefleptor H ARl W BRU §4 FhE AR GE H TR
I | Zéx4:6

AT

gl Treeft forgl IR famaietl i sareat hifvie S o <1 dfvass ol
%1 TeT o bl 3 | Iéx4:6

Explain any four issues because of which globalisation is criticised all
over the world.

OR

Explain any four environmental concerns that have become the issues of
contemporary global politics.
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MARKING SCHEME

CODE NO 59/3/1

SECTION — A

QL.

Ans

Which ideologies were represented by the Western alliance and the Eastern
alliance respectively?

OR
What does the end of bipolarity mean?

Western alliance represented the ideology of liberal democracy and
capitalism, whereas Eastern alliance represented socialism and communalism.
OR

End of Bipolarity means end and disintegration of USSR.

Pg3

Pg 17

Q2.

Ans

Which one of the following statements about ‘hegemony" is correct ?
(a) Hegemony means cooperation and alliance of some states.

(b) Hegemony means dominance of a state due to military, economic
and political power.

(c) Hegemony is a permanent feature of the developed countries.

(d) Hegemony always neglects international organisations like the UN.

Hegemony means dominance of a state due to military, economic and
political power.

Pg 37

Q3.

Ans

After disintegration of the USSR, which country got the permanent
membership of the UN Security Council in its place?

OR
Mention any two components of traditional security.
Russia
OR

() Balance of Power

(i) Alliance Building

(iii)  Military threat

(Any two)

Y X 2=

Pg 86

Pg 101

Q4.

Ans

Identify and name the political party which emphasised the idea of one
country, one culture and one nation'.

Bhartiya Jana Sangh

Pg 39

Q5.
Ans

Explain the term ‘autonomy’.
Autonomy is the freedom to take decision with special federal status.

Pg 155

SECTION B

Q6.

Highlight any one major reason that compelled both the superpowers to
avoid the risk of another world war.

OR
Highlight any two features of the old system of social welfare that got
destroyed due to shock therapy.

Pg4
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Ans

Fear of Nuclear War
OR
() Old system of social welfare was systematically destroyed.
(i) Withdrawal of government subsidies led to poverty
(iii)  Privatisation led to new disparities.
(Any two)

Pg 25

Q7.

Ans

Describe any two Directive Principles of State Policy that aim to promote
international peace and security.

OR

Describe any two efforts made by the Prime Minister, Jawaharlal Nehru to
establish contacts between India and other newly independent countries.

() Promote international peace and security

(i) Trust and honourable relations between nations

(iii)  Settlement of international disputes by arbitration.
OR

(i) Advocacy of Asian Unity

(i) Freedom of Indonesia from the Dutch colonial regime

Pg 66

Pg 68

Q8.

Ans

If you are asked to highlight any two important demands for the welfare of
the poor people of your locality, which two demands would you like to
raise? Justify your demands with arguments.

() Providing free education for poor children
(i) Free medical facilities to promote health

Pg 133

Qo.

Ans

Match the facts given in Column 'A* with those in Column 'B' in meaningful
manner :

Column ‘A’ Column 'B'

(a) Total Revolution (i) Ch. Charan Singh

(b) Deputy Prime Minister of India (ii) George Fernandes
(c) Railway Strike of 1974 (iii) Jagjivan Ram

(d) Founder of Lok Dal (iv) Jayaprakash Narayan

(@) —(iv)
(b) — (i)
(c) — (i)
(d) - @)

YoX4=

Pg
104

123
107

122

Q10.

Analyse any two effects of the implementation of the recommendations of
the Mandal Commission in 1990.

OR
How far did the Rajiv Gandhi — Longowal Accord succeed in its desired goal?
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(i) Opportunities for OBC’s in education and employment 1X2=2 | Pg181
Ans (i) Power sharing by OBCs
OR
(1) Bringing normalcy to Punjab Pg 161
(i) Withdrawal of application of Armed Forces Special Power Act in
Punjab.
SECTION-C
Q11. | Explain the U.S. hegemony as a structural power with the help of four
examples.
OR
Explain any four features of ASEAN.
Ans The hegemony of US as structural power:
(i) Capacity of US to provide global public goods such as'sea 1X4=4 | Pg40
lanes(SLOCS)
(i) Internet is the direct result of US military research project
(iif)  Establishing first business school with the world
(iv)  Economic preponderance of the US
OR Pg 56-57
ASEAN
() Accelerates economic growth
(i) Social programme and cultural development
(iii)  Promote regional peace
(iv) Avoid territorial disputes
Q12. | Justify India's candidature for the permanent membership of the UN
Security Council on any four grounds.
Ans | ) India is a big nation in terms of its population
(i) India is a major economic power 1x4 Pg 89
(i)  Indiais a major military power
(iv)  India respects democracy and human rights
Q13. | Highlight any four economic effects of globalisation.
Economic effects :
Ans (i)  Great flow of funds from one country to other 1x4 Pg140
(i) Flow of people increased internationally due to jobs and tourism.
(iif)  Enbhanced trade between states.
(iv)  Choice of people enhanced
(V) Any other relevant effects
Q14. | Explain any two major differences between the First Five Year Plan and the

Second Five Year Plan.
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OR

Explain the circumstances that led to the accession of Hyderabad to Indiain
1948.

Ans
() Inthe first FYP main thrust was on agriculture but in the second FYP 2X2=4 | Pg53
thrust was on industrialization .
(ii) First FYP was for slow speed of progress but the second was for hasty
and quick structured transformation.
OR
e A movement of the people of Hyderabad state against the Nizam’s
rule gathered force
e The peasantry in the Telangana region rose against him
e The communists and the Hyderabad Congress were in the forefront
e The Nizam responded by unleashing a para military forces
Q15. | State any four events that are responsible for the strained relations
between India and China.
() Annexation of Tibet by China
Ans N . i _ _ 1X4=4 | Pg6l
(i) Political Asylum given to Dalai Lama by India.
(iii)  Border dispute between India and China.
(iv)  The Chinese invasion in 1962.
Any other relevant point.
Q16. | Describe any four types of excesses made during the Emergency imposed in
1975.
OR
Mention any four outcomes of the fourth general elections held in India in
1967.
Ans | Excess during Emergency
(i)  Freedom of Press was curtailed. 1x4=4 | Pg115
(i) Forced family planning programme.
(iii)  Demotion of various settlements.
(iv)  Leaders of all opposition parties were arrested and jailed.
Any other relevant point
OR
Pg 88

() Jolted the Congress at the national and state level.
(i) Many political stalwarts lost in their constituencies.
(iii)  Congress lost assembly elections in seven states.
(iv)  Politcial earthquakes.
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(v) Rise of Regional parties.
Any other relevant effect.
(Any four)
SECTION -D

Q17.

Ans.

Read the passage given below carefully and answer the following questions:

It meant the end of Cold War confrontations. The ideological dispute over
whether the socialist system would beat the capitalist system was not an
issue any more. Since this dispute had engaged the military of the two blocs,
had triggered a massive arms race and accumulation of nuclear weapons
......... the end of confrontation demanded an end to this arms race and a
possible new peace

(1) Name the two alliances that were in confrontation during the Cold
War.

(i) Why did the arms race lead to a demand for peace ? Explain.

(iif)  Why was accumulation of nuclear weapons considered as a great
danger to the global environment ?

OR
Read the passage given below carefully and answer the following questions:
Non-alignment is also not neutrality. Neutrality refers principally to a policy
of staying out of war. States practising neutrality are not required to help
end a war. They do not get involved in wars and do not take any position on

the appropriateness or morality of a war. Non-aligned states, including
India, were actually involved in wars for various reasons.

() Define Non-alignment.
(i) Differentiate between non-alignment and neutrality.

(iii)  Inspite of being non-aligned states, why were some states
involved in war ? Give any one reason.

(i) USA and USSR

(i) Arms race lead to accumulation of nuclear weapons and existence of
military blocs

(iif) Accumulation of nuclear weapons was a threat to a global
environment as their use would lead to climatic change and
environmental destruction

OR

(i) Non Alignment is a movement where in a group of States are not
formally aligned with or against any major power bloc

(i) Non Alignment refers to policy of supporting or not supporting any
major power block whereas neutrality refers to a policy of being
neutral and staying out of War.

Pg 23

Pg 11

Pg 11
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(iif) Some states were involved in war to prevent war between others and
to maintain world peace.

Pg 11
Q18. | Read the passage given below carefully and answer following questions :
The Indian security strategy is geared towards security challenges within the
country. Several militant from time to time, have sought to break away from
India, tried to preserve national unity by adopting a democratic system,
() The militants of which two areas have sought to break away from
India ?
(i) In your opinion, how far is the demand of the militant groups to
break away from India justified ? Explain.
(iii)  Inwhich two ways does the democratic political system help to
bring unity in diversity in India ?
Ans (i) Nagaland, Mizoram ,Punjab and Kashmir . Pg 113
(i) The demand of the military groups to break away from India is not
justified as India is a country and land of unity in diversity with varied
culture promoting national unity.
(iif) The democratic political system allows different communities and
groups of people to freely articulate.Their grievances. They also share
political power.
Q19. | Read the passage given below carefully and answer the following questions:

Things changed after independence and partition. Our leaders felt that
carving out states on the basis of language mightlead to disruption and
disintegration. It was also felt that this would draw attention away from
other social and economic challenges that the country faced. Therefore, the
central leadership decided to postpone matters.......

(i) Highlight any one major change that took place in India due to
independence and partition.

(i) Mention two more reasons other than the ones mentioned in the
passage, which were responsible for the postponement of carving
out states.

(iii) Why was this postponement challenged by some local people and
where ? Give any one example.

OR
Read the passage given below carefully and answer the following questions:

Most parts of the country voted in January 1952.It took six months for the
campaigning, polling and counting to be completed. Elections were
competitive — there were on an average more than four candidates for each
seat. The level of participation was encouraging more than half the eligible
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voters turned out to vote on the day of elections. When the results were
declared, there were accepted as fair even by the losers. The experiment of
Universal Adult Franchise proved the critics wrong

() What is meant by Universal Adult Franchise ?

(i) Explain any two reasons due to which it took about, six months to
complete the first general elections in 1952.

(iii)  How did the elections hold in 1902 in India prove that democracy
could be practised anywhere in the world?

(i) Demand for separate state through protest particularly in Telugu

Ans X Pg 19
speaking areas
(i) The need for postponement was felt because the fate of the princely
states had not been decided and the memory of partition'was still
fresh.
(iii) Protests began in Telugu speaking areas including present day Tamil
Nadu,Andhra Pradesh, Kerala and Karnataka.
OR
(i) Right to vote of all adult citizens, regardless of any income race or any
discrimination.
(ii) Elections were competitive. There were on an average more than 4
candidates for each seat. More than half the eligible voters turned out Pa 30
to vote on the day of elections. g
(iii) Inspite of all odds, the level of participation was encouraging.
Q20. | Study the cartoon given below carefully and answer the following questions :
(i) Write the full form of SAARC.
(i) What message is being given by the placement of seats in the cartoon
with respect to India and Pakistan ?
(iii) Assess the success of SAARC in improving the relations among its
member states.
Ans

B

h

(i) South Asian Association for Regional Cooperation (SAARC)
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(i) Message is direct opposition.

(iii) SAARC provided platform to member countries to improve their trade
relations and Corporation through cultural and international
participation.

For visually impaired Candidates
20.1  Write the full form of SAARC.
20.2 Assess the relations between India and China after 1991.

20.3 “Given the size and power of India, its neighbours are bound to be
suspicious of India’s intentions.”Justify the statement with a suitable
agreement.

20.1 South Asian Association for Regional Cooperation.

20.2 There has been cultural exchange friendly contacts between
India and China Multilevel framework of bilateral relations.

20.3 Given the size and power of India its neighbours are bound to
be suspicious due to lack of progress of political relations thereby
leading to security threat.

Pg 77

Pg 77

Q21.

In given outline map of India (on page 16), five States have been marked as

AB,C,D & E . Identify them on the basis of the information given below and
write their correct names in your the respective serial number of the
information used and concerned alphabets as per the following format:

Sr. No of the Concerned alphabetin | Name of the state
information used the Map

(1) D Maharashtra

Gujarat

(ii)

(iii) Uttar Pradesh

Jammu & Kashmir

(iv)

Goa

| o o > m

1X5=5

Pg 132
Pg 140
Pg 134
Pg 155
Pg 169
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For Visually Impaired Candidates

21.1 In which state is Sardar Sarovar Dam situated?

Name the state was liberated from Portuguese control in 1961.

21.3 Who was the founder leader of the Mizo National Front?

21.4 Which state has been given the special status under Article 370?
21.5 Which state is known for its Anti- Arrack Movement?

1X5 =5
21.1 Gujarat
21.2 Goa
21.3 Lal denga
21.4 Jammu & Kashmir
21.5 Andhra Pradesh
SECTION - E
Q22. | Analyse any four reasons that tempted the super powers to have relations
with smaller states.
OR
Analyse any four reasons responsible for the disintegration of the USSR.
The smaller states were helpful for the superpowers in gaining access to
Ans (i) Vital resources like oil and minerals.
N i 1.5X4= | Pg7
(ii) Territory to launch weapons and troops. 6
(iif) Location to spy on each other.
(iv) Economic support to pay for military expenses.
OR
(i) Economic stagnation for many years lead to consumer shortages.
(ii) Soviet economy used much of its resources in maintaining a nuclear
and military arsenal and satellite States.
(iif) Administrative and political stagnation of Soviet Union.
(iv) Communist Party that had ruled Soviet Union over 70 years was not Pg 20-21
accountable to the people.
(v) The rise of nationalism and the desire for sovereignty within various
republics Russia and Baltic States.
(vi) Any other relevant point. ( Any four)
Q23. | Describe any two areas of cooperation and disagreement each, between
India and Bangladesh.
OR
Describe any four steps taken by China to grow its economy.
1.5X4=|Pg75
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Ans

Areas of Corporation

(i) Bangladesh is a part of India's look East policy.

(i) The Two States have corporated regularly on disaster management
and environmental issues.

(iii) Any other relevant point
Disagreement
(i) Sharing of Ganga and Brahmaputra river waters.
(ii) Bangladesh’s denial of illegal immigration to India.
OR
(i) ‘Open door ‘policy and economic reforms.
(ii) Privatization of agriculture in 1982.
(iii) Privatization of industry.
(iv) Elimination of trade barriers in special economic zone (SEZs)

Pg 59

Q24.

Ans

Describe any three elements of consensus that appear to have emerged
among most political parties in India in the midst of severe competition and
many conflicts.

OR

Describe the importance of regional aspirations, power sharing and the
regional balance in democratic politics of India.

(i) Agreement on new economic policies.
(ii) Acceptance of political and social claims of the backward castes.
(iif) Acceptance of role of state level parties in governance of the country.
(iv) Emphasis on pragmatic considerations.
(Any three)
OR

(i) Regional aspirations is very much a part of democratic politics and the
best way to respond is through domestic negotiations. For example in
the eighties militancy had erupted in Punjab. Problems were there in
northeast, agitation in Assam by students, Kashmir valley was on the
boil. Government of India negotiated with the regional movements
which led to reconcilation and reduced tensions from many regions.

(ii) Groups and parties from the region need to be given share in power at
the state level to take decisions. Since regions together form the
nation therefore there power sharing helps the nation to make
important decisions.

(iii) Regional balance leads to India‘s development experience to avoid
discrimination between state and poor or developed regional balance

3X2=6

3X2=6

Pg 190-
192

Pg 168
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gives equal status to all regions and adopt equilateral society.

Q25.

“Dominance of the Congress party in the first three general elections in
India, had no negative effect on the democratic nature of Indian politics."
Give any three arguments to support the statement.

OR

"The model of mixed economy adopted by India was criticised openly from
the left and the right.” Give any three arguments to support the statement.

(i) Congress party was in dominance because of People's Choice.

(ii) It accommodated the Revolutionary and Pacifist conservatives and
radicals and had space for differences.

(iif) Congress party strengthened the democracy and welcomed the
opposition.

(iv) Regular elections were conducted and due respect to different
institutions was given

Any other relevant point
OR

(i) Critics argued that planners refused to provide private sector with
enough space and stimulates to grow.

(ii) Public sector produced enough hurdles for private capital by way of
installing systems of licence and permit for investment.

(iif) Restrictions on import of goods.

(iv) State did not spend any amount for public education and health care

(Any Three)

2X3=6

Pg 36- 38

Pg 56- 57

Q26.

Ans

As a student of Political Science, which three lessons do you learn from the
Emergency imposed in 1975 ?

OR

Suggest any three steps that could have helped the Congress Party to avert a
splitin 1969.

(i) One lesson of emergency imposed in 1975 is that it is extremely
difficult to do away with democracy in India.

(i) It brought out some ambiguities regarding emergency provisions in
the Constitution internal emergency can be proclaimed only on the
grounds of armed rebellion.

(iif) Advice of the President must be taken by the Union Cabinet.
Emergency made everyone aware of the value of civil liberties

OR
(i) Cooperation and mutual understanding with trust of Syndicate groups

2X3=6

Pg 117

Pg 91-93

11

QB365 - Question Bank Software




QB365 - Question Bank Software
STANDARDISATION OF MARKING SCHEME

CODE NO 59/3/1

in Congress party.This could have avoided sidelining the Syndicate
group.

(ii) Decisions on several big and popular policy measures would have been
taken with the consensus opinion of all groups.

(iif) Prevention of abolition of privy purse are the special privileges given
to former princes.

Q27.

Explain any four issues because of which globalisation is criticised all over
the world.

OR

Explain any four environmental concerns that have become the issues of
contemporary global politics.

(i) Critics on the left argue that globalisation represents particular face of
global capitalism that makes rich richer and poor poorer.

(i) Critics from political rights express their anxiety over political,
economic and cultural effects in political terms their fear weakening of
states.

(iii) In economic terms they want a return to self reliance and
protectionism at least in certain areas of economy .

(iv) Culturally they are worried about harm to traditional culture and loss
of age old values and ways.

(v) Anti globalisation women are opposed to specific program of
globalisation like imperialism.

(Any Four)
OR

(i) Cultivable area is barely expanding and is losing fertility, grasslands,
overgrazed water bodies suffering from-extensive depletion thereby
restricting food production.

(ii) No access to safe water resulting in death of more than 3 million
children every year.

(iii) Loss of biodiversity continues due to destruction of Habitat in areas
which are rich in species.

(iv) Steady decline in total amount of Earth's stratosphere causing danger
to health.

(v) Pollution of coastal water and deterioration of quality of marine
environment .

(Any Four)

1.5X4=6

Pg 145

Pg 118

12

QB365 - Question Bank Software






